# SASAKIAN SUBMANIFOLDS OF CODIMENSION 2 IN A SASAKIAN MANIFOLD WITH HARMONIC CURVATURE

# YEONG-WU CHOE AND HYUNG-CHE NAM

# 0. Introduction

Let N be a Sasakian manifold with the structure tensor (F, G, v). If M is a submanifold immersed in N, M is said to be an *invariant* submanifold provided that the tangent space to M at each point of the submanifold is invariant under the action F. It is well known that an invariant submanifold tangent to the structure vector field v of a Sasakian manifold is also a Sasakian manifold. The study of invariant C-Einstein submanifolds of codimension 2 in a Sasakian manifold, which is called a problem of Nomizu-Smyth, were made by Endo [3], Kon [8], Pak and Oh [10], Yano and Ishihara [13] and so on. One of which, done by Yano and Ishihara [13], asserts that any invariant Einstein submanifold of codimension 2 immersed in a Sasakian manifold of constant curvature is totally geodesic. However, Pak and Oh [10] obtained the same result replacing the Sasakian manifold of constant curvature by that with vanishing C-Bochner curvature tensor.

The main purpose of the present paper is to investigate invariant submanifolds of codimension 2 immersed in an Einstein Sasakian manifold.

# 1. Invariant submanifolds of codimension 2 in a Sasakian manifold

Let N be a (2n+1)-dimensional Sasakian manifold with Sasakian structure (F, G, v) covered by a system of coordinate neighborhoods  $\{U; x^A\}$ , where here and in the sequel the indices A, B, C... run over the range  $\{1, 2, ..., 2n+1\}$ . We denote by  $F_{B}^{A}$ ,  $G_{BA}$  and  $v^{A}$  components of the (1, 1)-tensor F, of the Riemannian metric tensor G and of the

Received May 19, 1987.

This work is supported by KOSEF research grant.

structure vector field v respectively. We then have

(1. 1) 
$$F_C{}^B F_B{}^A = -\delta_C{}^A + v_C v^A, \quad F_C{}^A v^C = 0, \quad v_A F_C{}^A = 0, \\ G_{BA} v^B v^A = 1, \quad F_D{}^B F_C{}^A G_{BA} = G_{DC} - v_D v_C,$$

where  $v_C = G_{CE}v^E$ . Denoting by  $V_A$  the operator of the covariant differentiation with respect to the fundamental tensor  $G_{BA}$ , we have

$$(1.2) V_C v_B = F_{CB}, V_C F_{EB} = -G_{CE} v_B + G_{CB} v_E.$$

From the last equation of (1.2) and the Ricci formula for  $F_{CB}$ , we find

(1.3) 
$$R_{DCBA}F_{E}^{A} = -R_{DCE}^{A}F_{AB} - G_{CB}F_{DE} + G_{DB}F_{CE} + G_{CE}F_{DB} - G_{DE}F_{CB},$$

where  $R_{DCB}^{A}$  denotes components of the Riemannian curvature tensor of N. Moreover, we have

$$(1. 4) R_{DA}v^{A} = 2nv_{D},$$

$$(1.5) R_{DE}F_{B}^{E} + R_{BE}F_{D}^{E} = 0,$$

 $R_{DA}$  being components of the Ricci tensor of N.

Let M be an invariant submanifold of codimension 2 in N covered by a system of coordinate neighborhoods  $\{V; y^h\}$ , where here and in the sequel the indices h, i, j, ... run over the range  $\{1, 2, ..., 2n-1\}$ . And let M be immersed isometrically in N by the immersion  $i: M \rightarrow N$ . We represent the immersion i locally by  $x^A = x^A(y^h)$  and put  $B_j = (B_j^A)$  are (2n-1)-linearly independent local tangent vector fields of M. We denote by  $C^A$  and  $D^A$  two mutually orthogonal unit normals to M. Then the induced Riemannian metric  $g_{ji}$  on M is given by

$$(1. 6) g_{ji} = G_{CB}B_j{}^CB_i{}^B$$

because the immersion is isometric.

Denoting by  $V_j$  the operator of van der Waerden-Botolotti covariant differentiation formed with  $g_{ji}$ , The equations of Gauss and Weingarten for M are respectively obtained:

(1. 7) 
$$\begin{cases} \nabla_{j}B_{i}^{A} = h_{ji}C^{A} + k_{ji}D^{A}, \\ \nabla_{j}C^{A} = -h_{j}^{r}B_{r}^{A} + l_{j}D^{A}, \\ \nabla_{j}D^{A} = -k_{j}^{r}B_{r}^{A} - l_{j}C^{A}, \end{cases}$$

where  $h_j{}^r = h_{ji}g^{ir}$ ,  $k_j{}^r = k_{ji}g^{ir}$  are components of the second fundamental tensors,  $l_j$  those of the third fundamental tensor and  $g^{ji}$  being contravariant components of  $g_{ji}$ . As to the transformations of  $B_j{}^A$ ,  $C^A$  and  $D^A$  by  $F_B{}^A$  we have respectively equations of the form

$$(1.8) F_B{}^A B_i{}^B = f_i{}^j B_i{}^A,$$

(1.9) 
$$F_B{}^A C^B = D^A, F_B{}^A D^B = -C^A,$$

where we have put  $f_{ji} = G(FB_j, B_i)$ . The structure vector field v is also represented by

$$(1. 10) v^A = p^i B_i^A,$$

where  $p_i = G(B_i, v)$ ,  $p^i$  being contravariant components of  $p_i$ . From the last three equations, it follows that

(1.11) 
$$\begin{cases} f_j{}^r f_r{}^h = -\delta_j{}^h + p_j p^h, & p^r f_r{}^h = 0, \\ g_{rs} f_i{}^r f_i{}^s = g_{ii} - p_i p_i, & p^r p_r = 1. \end{cases}$$

Differentiating (1.8) covariantly along N and making use of (1.7), (1.8) and (1.9), we have

$$(1. 12) V_j p_i = f_{ji}, \quad V_j f_i{}^h = -g_{ji} p^h + \delta_j{}^h p_i.$$

Then it is shown that the set (f, g, p) defines a Sasakian structure ([12, 14]). Similarly differentiating (1.10) covariantly and using (1.7) and (1.11), we have

$$(1.13) h_{ii} - k_{it} f_i^t, k_{ii} = -h_{it} f_i^t,$$

which imply

(1. 14) 
$$h_{jr}p^{r} = 0, \quad k_{jr}p^{r} = 0, \\ h_{t}^{t} = k_{t}^{t} = 0.$$

Thus, the submanifold of codimension 2 M is minimal.

From (1.13) we can easily see that

$$(1. 15) k_{jr}h_{i}^{r} + k_{ir}h_{j}^{r} = 0,$$

$$(1. 16) k_{ji}^2 = h_{ji}^2, k_2 = h_2,$$

$$(1. 17) k_3 = h_3 = 0,$$

where we have defined  $h_{ji}^2 = h_{jr}h_i^r$ ,  $k_{ji}^2 = k_{jr}k_i^r$ ,  $h_2 = h_{ji}h^{ji}$  and  $h_3 = h_{jr}h_s^r$ ,  $h^{sj}$ .

On the other hand, Gauss, Codazzi and Ricci equations for M are given respectively by

$$(1.18) \quad R_{DCBA}B_k{}^DB_j{}^CB_i{}^BB_h{}^A = R_{kjih} - (h_{kh}h_{ji} - h_{ki}h_{jh} + k_{kh}k_{ji} - k_{ki}k_{jh}),$$

$$(1.19) R_{DCBA}B_k{}^DB_j{}^CB_i{}^BC^A = \nabla_k h_{ji} - \nabla_j h_{ki} - (l_k k_{ji} - l_j k_{ki}),$$

$$(1.20) R_{DCBA}B_k{}^DB_j{}^CB_i{}^BD^A = \nabla_k l_j - \nabla_j l_k + h_{kr}k_j{}^r - h_{jr}k_k{}^r,$$

$$(1.21) R_{DCBA}B_{k}{}^{D}B_{j}{}^{C}C^{B}D^{A} = \nabla_{k}l_{j} - \nabla_{j}l_{k} + h_{kr}k_{j}{}^{r} - h_{jr}k_{k}{}^{r},$$

where  $R_{kjih}$  denote covariant components of the Riemannian curvature tensor of M.

Putting  $A_{kj} = \nabla_k l_j - \nabla_j l_k$  and utilizing (1.15), the equation (1.21) reduces to

$$(1.22) R_{DCBA}B_k{}^DB_j{}^CC^BD^A = A_{kj} + 2h_{kr}k_j{}^r.$$

### 2. Sasakian submanifolds of codimension 2

Let M be an invariant submanifold of codimension 2 of a Sasakian manifold N. Transvecting (1.18) by  $g^{ji}$  and using (1.16), we find

$$R_{DA}B_{k}{}^{D}B_{h}{}^{A}-R_{DCBA}B_{k}{}^{D}B_{h}{}^{A}(C^{C}C^{B}+D^{C}D^{B})=R_{kh}+2h_{kr}k_{h}{}^{r},$$

where  $R_{ji}$  denote components of the Ricci tensor of M. Transvecting  $f_{j}^{h}$ , we get

(2. 1) 
$$R_{kr}f_j^r - 2h_{kr}k_j^r = R_{DA}B_k^Df_j^rB_r^A - R_{DCBA}F_E^AB_j^EB_k^D(C^cC^B + D^cD^B)$$
  
On the other hand, from (1. 3) we have

$$\begin{split} R_{DCBA}F_E{}^AB_k{}^DB_j{}^E(C^CC^B+D^CD^B) \\ = R_{DCEA}F_B{}^AB_k{}^DB_j{}^EC^CC^B+R_{DCEA}F_B{}^AB_k{}^DB_j{}^ED^CD^B+2F_{ED}B_k{}^DB_j{}^E. \end{split}$$

Thus, using (1.8), (1.9) and (1.22), it follows that

$$R_{DCBA}F_{E}{}^{A}B_{k}{}^{D}B_{j}{}^{E}(C^{C}C^{B}+D^{C}D^{B})=A_{kj}+2h_{kr}k_{j}{}^{r}-2f_{kj}.$$

Therefore (2.1) turns out to be

$$R_{DA}B_{k}^{D}f_{j}^{r}B_{r}^{A} = R_{kr}f_{j}^{r} + A_{kj} - 2f_{kj}$$

Transvecting  $f_i^j$  and taking account of (1.11), we get

$$R_{DA}B_{k}^{D}(-\delta_{i}^{r}+p_{i}p^{r})B_{r}^{A}=R_{kr}(-\delta_{i}^{r}+p_{i}p^{r})+A_{kr}f_{i}^{r}-2(g_{ki}-p_{k}p_{i}),$$

which together with (1.4) and (1.10) yields

$$R_{DA}B_{j}^{D}B_{i}^{A} = R_{ji} + 2g_{ji} - A_{jr}f_{i}^{r}$$
.

Lemma 1. Let N be a (2n+1)-dimensional Sasakian manifold with harmonic curvature.

*Proof.* Differentiating (1.4) covariantly along N and using (1.1), we find

$$(\nabla_C R_{DA}) v^A + R_{DA} F_C^A = 2n F_{CD}.$$

Since N has harmonic curvature, namely,  $V_C R_{DA} - V_D R_{CA} = 0$ , it follows that

$$R_{DA}F_{C}^{A}-R_{CA}F_{D}^{A}=4nF_{CD},$$

which together with (1.5) yields

$$(2.3) R_{DA}F_C{}^A = 2nF_{CD}.$$

Transvecting (2.3) by  $F_B{}^C$  and making use of (1.1) and (1.4), we see that N is Einstein. This completes the proof.

Since M is also Sasakian manifold, we see that

(2.4) 
$$f_{j}^{r}R_{ir} = f^{lk}R_{ljik} + (2n-3)f_{ji}.$$

Thus, if M is of harmonic curvature, then, by Lemma 1, M is Einstein, i. e.  $R_{ji}=2(n-1)g_{ji}$ . Therefore (2.4) turns out to be

$$f^{lk}R_{ljik}=f_{ji}$$

Transvecting (1.22) with  $p^j$  and using (1.10) and (1.14), we find  $R_{DCBA}B_k^Dv^CC^BD^A = A_{ki}p^j$ ,

However, we have  $R_{DCBA}v^A = v_DG_{CB} - v_CG_{DB}$ , which is a direct consequence of (1.2), we get

$$R_{BADC}B_k^D v^C C^B D^A = 0.$$

Therefore we have

$$(2.6) A_{jr}p^r = 0.$$

Lemma 2. Let M be an invariant submanifold of codimension 2 in a Sasakian manifold. Then we have

$$(2.7) V^{l}\nabla_{i}h_{il} = (\nabla_{l}\nabla_{i}k_{ik})f^{lk} + (2n-3)h_{ii}.$$

Proof. From (1.14), we have respectively

$$(\nabla_k k_{jr}) p^r + k_{jr} f_{kr} = 0, \quad (\nabla_k h_{jr}) p^r + h_{jr} f_{kr} = 0$$

because of (1.12). By using (1.13), it follows that

$$(2.8) (\nabla_k k_{jr}) p^r = -h_{kj}, (\nabla_k h_{jr}) p^r = k_{jk}.$$

Differentiating (1.13) covariantly along M and taking account of (1.12), we find respectively

$$(2.9) \nabla_k h_{ji} = (\nabla_k k_{jr}) f_i^r + k_{jk} p_i, \nabla_k k_{ji} = -(\nabla_k h_{jr}) f_i^r - h_{jk} p_i.$$

Differentiating (2.9) covariantly and using (1.12) we obtain

$$\nabla_l \nabla_k h_{ji} = (\nabla_l \nabla_k k_{jr}) f_i^r + (\nabla_k k_{jr}) (-g_{li} p^r + g_{lr} p_i) + (\nabla_l k_{jk}) p_i + k_{kj} f_{li},$$
 or, making use of (2.8),

$$\nabla_{l}\nabla_{k}h_{ji} = (\nabla_{l}\nabla_{k}k_{jr})f_{i}^{r} + g_{li}h_{kj} + (\nabla_{k}k_{jl})p_{i} + (\nabla_{l}k_{jk})p_{i} + k_{kj}f_{li}.$$

If we transvect  $g^{li}$  and use (2.8), then we obtain the equation (2.7) which completes the proof.

# 3. Invariant submanifolds of an Einstein manifold

Suppose that N is a (2n+1)-dimensional Einstein manifold. Then we have  $R_{DA}=2nG_{DA}$ . It means that

$$R_{DA}B_i{}^DB_i{}^A=2ng_{ji}$$

Thus (2.2) reduces to

(3.1) 
$$R_{ii} = 2(n-1)g_{ii} + A_{ir}f_{i}^{r}.$$

Substituting (3.1) into (2.4) and using (2.6), we find

$$f^{lk}R_{liik}=f_{ii}+A_{ii}$$

By the properties of the Sasakian structure, it follows that

$$f^{lk}R_{lkji} = -2(f_{ji} + A_{ji}).$$

On the other hand, from the Ricci identity for  $k_{ii}$ , we obtain

$$\nabla_l \nabla_k k_{ji} - \nabla_k \nabla_l k_{ji} = -R_{lkjr} k_i^r - R_{lkir} k_j^r$$
.

Transvecting the above equation with  $f^{lk}$  and taking account of (1.13) and (3.2), it reduces to

(3.3) 
$$f^{lk} \nabla_{l} \nabla_{k} k_{ji} = 2h_{ji} + A_{jr} k_{i}^{r} + A_{ir} k_{j}^{r}.$$

Thus, it follows that

$$(3.4) h^{ji}f^{lk}\nabla_{l}\nabla_{k}k_{ji} = 2h_2 + A_{jr}k_i^{r}h^{ji}.$$

Proposition 3. Let N be a Sasakian with harmonic curvature. If M is an invariant submanifold of codimension 2 in N, then the following assertions are true:

- (1) M is an Einstein manifold if and only if the normal connection of M is flat.
- (2) M is C-Einstein manifold if and only if  $A_{ji} = -bf_{ji}$  for some constant b.

*Proof.* (1) From Lemma 1 we have (3.1). Thus it is easily seen that  $R_{ji}=2(n-1)g_{ji}$  is equivalent to  $A_{ji}=0$  by taking account of (2.6).

(2) "If part" is evidently true because of (3.1).

Suppose that M is of C-Einstein, i. e.  $R_{ji} = ag_{ji} + bp_{j}p_{i}$ . Then from (3.1) we have

$$-b(g_{ii}-p_ip_i)=A_{ir}f_i^r$$
.

Differentiating the above equation covariantly and (2.6), we get

$$b(f_{kj}+f_{ki}p_j) = (\nabla_k A_{jr})f_{i}^r + A_{jk}p_i.$$

Transvecting with  $p^i$ , we find  $bf_{ki} = A_{ik}$ . Thus we complete the proof.

Theorem 4. Let N be a (2n+1)-dimensional Sasakian manifold with harmonic curvature and M be a compact C-Einstein submanifold of codimension 2 in N. If the second fundamental form is of Codazzi type and the scalar curvature of M is non-negative, then M is totally geodesic.

*Proof.* Since  $h_{ji}$  is of Codazzi type, Lemma 2 tells us that

(3.5) 
$$\Delta h_{ji} = (\nabla_j \nabla_k k_{ji}) f^{jk} + (2n-3) h_{ji},$$

where  $\Delta = \nabla^i \nabla_i$  denotes the operator of Laplacian, which and (3.4) imply (3.6)  $h^{ji} \Delta h_{ji} = (2n-1) h_2 + A_{jr} k_i^r h^{ji}$ .

Since M is C-Einstein manifold, by Proposition 3, we see that  $A_{jr} = -bf_{jr}$ . Thus (3.6) reduces to

$$(3.7) h^{ji} \Delta h_{ji} = (2n-1-b) h_2$$

because of (1.13). From (3.1) we have

$$R=2(n-1)(2n-1-b) \ge 0$$

because the scalar curvature of M is non-negative is assumed. Therefore (3.7) means

$$h^{ji}\Delta h_{ji} = \frac{R}{2(n-1)}h_2.$$

Therefore we have the following identity:

(3. 8) 
$$\frac{1}{2} \Delta h_2 = \frac{R}{2(n-1)} h_2 + ||\nabla_k h_{ji}||^2 \ge 0.$$

Since M is compact, we see, according to the Green's Theorem, that  $h_2=k_2=0$  because of (3.5). Thus M is totally geodesic because of (1.16).

Now, we prove the following theorem:

Theorem 5. Let M be a compact invariant submanifold of codimension 2 with harmonic curvature in a Sasakian manifold. If the second fundamental form is of Codazzi type, then M is totally geodesic.

*Proof.* Since M is of also a Sasakian manifold with harmonic curvature, by Lemma 1, it follows that M is Einstein, that is,

$$R_{ji}=2(n-1)g_{ji}.$$

Thus (2.5) is valid. Hence (3.3) becomes

$$f^{lk}\nabla_k\nabla_lk_{ii}=2h_{ii}$$
.

Therefore (3.5) reduces to

(3.9) 
$$\Delta h_{ii} = (2n-1)h_{ii}$$

because  $h_{ji}$  is of Codazzi type. M being compact, combining (3.8) and (3.9), it is clear that  $h_{ji}=k_{ji}=0$ . Thus M is totally geodesic.

Remark 1. If we replace the compactness condition in Theorem 4 and Theorem 5 by  $h_2$ =constant. Then we obtain the same result that M is totally geodesic.

Remark 2. Let N be a Sasakian space form, then it is clear that  $h_2$ =constant and  $h_{ji}$  is of Codazzi type. Thus it follows that if M is an invariant submanifold of codimension 2 in a Sasakian space form N(c), then M is totally geodesic (cf.  $\lceil 10 \rceil$ ).

#### Bibliography

- A. Derziński, Compact Riemannian manifolds with harmonic curvature and non-parallel Ricci tensor, Global Differential Geometry and Global Analysis, Lecture notes in Math., Springer 838 (1979), 126-128.
- 2. A. Derziński, Classification of certain compact Riemannian manifolds with harm-onic curvature and non-parallel Ricci tensor, Math. Z., 172(1980), 273-280.
- H. Endo, Invariant submanifolds in a K-contact Riemannian manifold, Tensor N.S., 28(1974), 154-156.
- A. Gray, Einstein-like manifolds which are not Einstein, Geometrae Dedicate, 7(1978), 259-280.
- 5. U-H. Ki and H. Nakagawa, The submanifolds with harmonic curvature in Riemannian manifold of constant curvature, to appear in Kyungpook Math. J.
- 6. U-H. Ki and H. Nakagawa, Submanifolds with harmonic curvature, Tsukuba J. Math. 10(1986), 285-292.
- 7. U-H. Ki, H. Nakagawa and M. Umehara, On complete hypersurfaces with harmonic curvature, to appear in Tsukuba J. Math.
- 8. M. Kon, Invariant submanifolds in Sasakian manifolds, Math. Ann. 219 (19 75), 277-290.
- 9. E. Ômachi, Hypersurfaces with harmonic curvature in a space of costant curvature, to appear.
- 10. J.S. Pak and W.T. Oh, Some characterizations in a Sasakian manifold with vanishing C-Bochner curvature tensor and its submanifolds of codimension 2, J. Korean Math. 15(1978), 9-23.
- 11. B. Smyth, Submanifolds of constant mean curvature, Math. Ann. 205 (1973), 265-280.

- 12. K. Yano and U-H. Ki,  $On(f, g, u, v, w, \lambda, \mu, \nu)$ -structure satisfying  $\lambda^2 + \mu^2 + \nu^2 = 1$ , Kōdai Math. Sem. Rep. **29**(1978), 285-307.
- 13. K. Yano and S. Ishihara, On a problem of Nomizu-Smyth on a normal contact Riemannian manifold, J. Diff. Geo. 3(1969), 45-58.
- 14. K. Yano and S. Ishihara, Invairiant submanifolds of an almost contact manifold, Ködai Math. Sem. Rep. 21 (1969), 350-364.

Hyosung Women's University Kyeongbuk 632-17, Korea and Daegu Teacher's College Daegu 634, Korea